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8x° — 3x+ 9% + 2(9%% + 3x°)

dx — x + 5x° + 3x° — 6x

6x° — dx — 6x° — 2(5x — 7x3)

4(7x3 — xz) —6x% — x>+ 9x°

55 + 5% + 6x — 2(5x + 5x3)

=N

3x% — 5% —dx - 2(9x3 + 6x)

7% + 2% — 2(3x° + 9x) — 4x

8% + 2x —x + 3()(2 + 7x2)

4% + 5¢° — 9x + 2(5x3 + 9x)

X+ 30 A6 + 2% - 2x
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8x° — 3x+ 9% + 2(9x% + 3x°)

235 + 18x% — 3x

dx— x+ 5% + 3 — 6
3+ 5¢ — 3x

6x% — 4x — 6x° — 2(5x — 7x°)
14x° — 14x

4(7x3 — xz) — 6% — x> + 9
36x° — 10x°

55 + 5% + 6x — 2(5x + 5x3)
—4x

3x% = 5x% — dx — 2(9%° + 6)
—18x> — 2% — 16x

T2+ 26 = 2(3x° + 9x) — 4x
—6x° + 9% — 22x

8x° + 2x—x+ 3(x2 +7x2)
8 + 247 +x

4x% + 5% — 9x + 2(5x° + 9)
153 + 4% + 9x

X+ 308 + 4607 + 2x%) — 2x
4 +32:¢ — 2x

www.snowmath.com



https://www.snowmath.com

